| > restart

>
% I %ﬁ;—-%:% 3‘“"""‘>

> FEcuacion = x-log(x) -diff (y x) —y(x)=x--3-(3-log(x) — 1)
Ecuacion :=xln(x) (% y(x)) —y(x) = (3In(x) —1) €))

> FEcuacionNormalizada = expand( hs (Ecuacion) ) = expand ( rhs(Ecuacion) )
x-log(x) x-log(x)
2
EcuacionNormalizada := . y(x) — ;’% =35 — ln)i—x) 2)
> pi=— I ; q = rhs(EcuacionNormalizada)
xIn(x)
1
pP=7 In(x)
2 x2
q=3x" — n(x) A3)
> [IntPosP := int(p, x)
IntPosP .= -In(In(x)) )
> [IntNegP := -int(p, x)
IntNegP :=In(In(x)) &)
> ExpNeg := exp(IntNegP); ExpPos = exp([ntPosP)
ExpNeg := In(x)
1
E =
xpPos n(x) 6)
> ExpPosQ := expand(ExpPos-q)
2 2
3x X
ExpPosQ = — 7
pPosQ ) I (7
> IntQ = int(ExpPosQ, x)
3
__X
IntQ - () 8
> SolucionGeneral = y(x) = C,-ExpNeg + ExpNeg-IntQ
SolucionGeneral .= y(x) = C, In(x) +x° )
> Comporbacion, = dsolve(Ecuacion)
Comporbacion | := y(x) -+ In(x) CI 10)

> Comprobacion, = simplify(eval(subs(y(x) = rhs(SolucionGeneral), lhs( Ecuacion)
— rhs(Ecuacion) =0)))
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Comprobacion, :=0=0 (11)

restart
Ecuacion = y"-6y'+8y=0
Ecuacion = d—z y(x) —6 (i y(x)) +8y(x) =0 (12)
dr* dx
EcuacionCaracteristica = m--2 —6-m+8=0
EcuacionCaracteristica :=m* —6m +8 =0 13)

Raiz = solve( EcuacionCaracteristica)
Raiz = 4,2 (14)

SolUno = y(x) =exp(Raizl-x); SolDos == y(x) =exp(Raizz-x)

SolUno :=y(x) = et

2x

SolDos :=y(x) =e as)
SolucionGeneral == y(x) = C,-rhs(SolUno) + C,-rhs(SolDos)
SolucionGeneral .= y(x) = C, et + C, e (16)

Comprobacion = simplify(eval(subs(y(x) =rhs(SolucionGeneral), Ecuacion)) )
Comprobacion :=0=0 a7

Comprobacion,, = dsolve(Ecuacion)

Comprobacion, :=y(x) =_CI e+ 2 e (18)



